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PROVINCIAL EXAMINATIONS, 1906,

. Asstated some months ago, the Record made ap-
plication to the Bourd cf Examiners for the answers
returned to the questions, at the examination, by a cer-
taln unsuccessful candidate, The papers, very curious-
ly, could not be found. We have waited in hope that
they might turn up, but as they are likely lost for good,
we must be content to give the answers of one of the
successful Candidates. There were many who failed ;
perhaps these answers will be of service in showing
where they came short, Can any reader suggest im-
provements in the answers.

MANAGERS.—SURVEYING,

Ques, 1.—The following sorvey, which was surviy-
ed by an instrument whose needle had 24 degrees of
West variation, Noith 30 degrees West 6 chains ; North
70 degrees East 10 chains,, North 30 degrees East g
chains ; North 25 degrees West 8 chaius, under what
bearings must the survey be plotted on a plan whose de-
lineated meridian has 15 Degrees of West variation ?

Ans. 1.—~Reduce bearing with a meridian of 24 deg.
of West variation. bearing with a meridian

N. 30 deg. W. 6 chains of 15 deg. of West varistion,
N. 70 deg. 10 chains, N. j9deg. W. 6 chains,
N. 30 deg. E. § chains, N, 61 deg. E. 10 chains.
N. 25 deg. W. 8 chains, N. 21deg. E, 5 chains,

N. 34 deg. W. 8 chains,

the direction of a new road set out

Ques 2,—How is
if a magnetic bearing cannot be

from an existing road,
obtained,

Ans 2.—The angle which the new road will make
with the existing road is first ascertained by the pro-
tractor from the plan.  The dial is then fixed at the
point where the new road is to commence underground
and the angle set out by the Vernier on the dial, a sight
having been taken along the existing road and the new
road set out at the angle obtained from the plan,

3.—A slope dip 17 degrees is 1250 yards in
Explain how and where you would sink a shaft
to strike the face of slope ; also tell how to find depth
of shaft.

Ans. 3.— Horizootal distance,

Cosine of angle x slope distance =
Horizontal distance to sink shaft

Sine of angle x slope distance = Depth of
shaft.

Ques. 4.—Why is the East marked to the left of the
North, and West 10 the right of North in the miner's

compass ?
Ans, 4.—When taking a sight with the compass the
North and South of the dial are always placed in the

line of sight, the direction of the needle is the magnetic
meridlan and is either to the right or left, and as in
sketch the line of sight is 20" to the right, that is to the
East as the East is to the right hand “of the North and
South line, therefore the bearing of the line is 20 N, E,
but if the letters E, W, were put in their proper position
it would read N, W. which would be inaccurate.

Ques 5,—The main entry from the bottom of the
shaft runs due North 3600 feet. A cross entry is start-
ed due East at a distance of 200 feet from the face, and
driven 2,465 feet. What length of roadway started 250
feet from the shaft will be required to connect with face
of che cross entry, and what will be the bearing of this
connecting roadway ?

Ans, 3.—

3150) 24650 (.78254
22050
26000

25200
8ooo
6300
17000
15750
12500

12600
Ques. 6.—Plot and iraverse the following courses of
@ survey to a scale of 100 feet to the inch :

Courses, Distances, Sines. Cosines,
N. 10 Deg. E. 200 feet 173648 984808
N. 5 Deg. W, 100 “ 087156 996193
N. 85 Deg, E. 250 “ 996195 087156
S. 5 Deg. W. 100 “ 087156 996195
S. 85 Deg. E. 200 * 996195 087156
S. g *
S* 80 Deg. W, o 984808 173648
N. 45 Deg. W, B 707107 707107
S. 10 Deg. W, 1o “ 173648 984808
S. 5 Deg. 30' W, I .095846 1995396
N. 80 Deg. W, a84d 1984808 173648
Ans, 6,
Narlhiu Southing Easting Westing
N. 10 Deg E. 200 feet. 196, 84,72
N. 5 Deg. W, 100 09, 62 8.72
N. 85 Deg, E. 250 * 21,80 249,06
8. 5Deg W, 100 99,62 8.72
8, 86 Deg. E. 200 * 17.44 190,24
8 126 * 125.00
8, 80 Deg. W, 110 19.10 108.33
N. 46 Deg. W, 75 * 53.08 63.08
8 10Deg. W, 110 * 108 .38 19.10
8, 6 Deg. 30'W, 51} « 51,92 .M
N. 80 Deg. W, 2844 49.40 280,17
4080 483,01 4831




